
I. Read the sources given below and answer  questions no. 1 to 4: 

 ‘The new line to be constructed was the Indus Valley Railway between Multan and Sukkur, a 

distance of nearly 300 miles. At the rate of 2000 sleepers per mile this would require 600,000 

sleepers 10 feet by 10 inches by 5 inches (or 3.5 cubic feet apiece), being upwards of 2,000,000 

cubic feet. The locomotives would use wood fuel. At the rate of one train daily either way and at 

one maund per train-mile an annual supply of 219,000 maunds would be demanded. In addition a 

large supply of fuel for brick-burning would be required. The sleepers would have to come 

mainly from the Sind Forests. The fuel from the tamarisk and Jhand forests of Sind and the 

Punjab. The other new line was the Northern State Railway from Lahore to Multan. It was 

estimated that 2,200,000 sleepers would be required for its construction. 

 E.P. Stebbing, The Forests of India, Vol. II (1923). 

1. Indus Valley railway was to be constructed between 

a) Lahore and Karachi 

b) Lahore and Multan 

c) Multan and Sukkur 

d) Lahore and Sukkur 

2.  The distance between Multan  and Sukkur was nearly 

a) 300 miles 

b) 400 miles 

c) 200 miles 

d) 500 miles 

3.  Which one was the other new line? 

a)  Northern State railway 

b) Southern State Railway 

c) Western State Railway 

d) Eastern State Railway 

4. What was the size of each sleeper? 

a) 12 feet by 10 inches by 5 inches  



b) 10 feet by 10 inches by 8 inches 

c) 10 feet by 12 inches by 5 inches 

d) 10 feet by 10 inches by 5 inches 

I. नीच ेदिए गए स्रोतों को पढ़ें और प्रश्न संख्या का उत्तर ि़ें। 1 से 4: 

 'बनाई जाने वाली नई लाइन मुल्तान और सुक्कुर के बीच ससधुं घाटी रेलवे थी, जो 

लगभग 300 मील की िरूी थी। प्रतत मील 2000 स्लीपरों की िर से इसके सलए 10 फीट 
गुणा 10 इंच गुणा 5 इंच (या प्रत्येक 3.5 घन फीट) के 600,000 स्लीपरों की 
आवश्यकता होगी, जो 2,000,000 घन फीट से अधधक होंगे। लोकोमोदटव लकडी के ईंधन 
का उपयोग कऱेंगे। ककसी भी तरह से प्रततदिन एक टे्रन की िर से और एक मन प्रतत टे्रन-

मील की िर से 219,000 मन की वार्षिक आपूतति की मागं की जाएगी। इसके अलावा ईंट 
जलाने के सलए ईंधन की बडी आपूतति की आवश्यकता होगी। स्लीपरों को मुख्यतः ससधं के 
जंगलों से आना होगा। ससधं और पंजाब के इमली और झंड जंगलों से ईंधन। िसूरी नई 
लाइन लाहौर से मुल्तान तक उत्तरी राज्य रेलवे थी। अनुमान लगाया गया था कक इसके 

तनमािण के सलए 2,200,000 स्लीपरों की आवश्यकता होगी। 
 ई.पी. स्टीबबगं, ि फॉरेस््स ऑफ इंडडया, वॉल्यूम। द्र्वतीय (1923)। 
1. ससधुं घाटी रेलवे का तनमािण ककसके बीच ककया जाना था? 
a) लाहौर और कराची 

b) लाहौर और मुल्तान 
c) मुल्तान और सुक्कुर 
d) लाहौर और सुक्कुर 
2. मुल्तान और सुक्कुर के बीच की िरूी लगभग थी 

a) 300 मील 
b) 400 मील 
c) 200 मील 
d) 500 मील 



3. िसूरी नई लाइन कौन सी थी? 
a) उत्तरी राज्य रेलव े

b) िक्षिणी राज्य रेलव े
c) पश्श्चमी राज्य रेलव े
d) पूवी राज्य रेलव े
4. प्रत्येक स्लीपर का आकार क्या था? 

क) 12 फीट गुणा 10 इंच गुणा 5 इंच 
b) 10 फीट गुणा 10 इंच गुणा 8 इंच 
c) 10 फीट गुणा 12 इंच गुणा 5 इंच 
d) 10 फीट गुणा 10 इंच गुणा 5 इंच 

 

5. Which of the following measures was not adopted by Dutch in Java to regulate forest ?  

(a) Forest laws were enacted. 

(b) They tried to make the skilled forest cutters and shifting cultivators work under them. 

(c) Villagers were not allowed grazing cattle in forests except in a specific area. 

(d) Transporting wood without a permit was not allowed. 

 

 5. जावा म़ें वनों को र्वतनयसमत करने के सलए डचों द्वारा तनम्नसलखित म़ें स ेकौन सा उपाय नहीं 
अपनाया गया था? 
(ए) वन कानून बनाए गए। 

(बी) उन्होंने कुशल वन काटने वालों और झूम िेती करने वालों को अपने अधीन काम 
करने की कोसशश की। 
(सी) ग्रामीणों को एक र्वसशष्ट िेत्र को छोडकर जंगलों म़ें मवेशी चराने की अनुमतत नहीं 
थी। 

(डी) बबना परसमट के लकडी पररवहन की अनुमतत नहीं थी। 
 

 

6. What were ‘forest villages’ ?  

(a) Villages which were allowed to stay on in the reserved forests on some condition. 

(b) Village where trees were planted under scientific forestry. 

(c) Villages which were displaced under the forest laws. 



(d) Tribal Villages which used to trade forest products such as rubber. 

6. 'वन ग्राम' क्या थे? 

(ए) व ेगााँव श्जन्ह़ें कुछ शतों पर आरक्षित वनों म़ें रहने की अनुमतत िी गई थी। 
(बी) गााँव जहााँ वैज्ञातनक वातनकी के तहत पेड लगाए गए थे। 

(सी) व ेगााँव जो वन कानूनों के तहत र्वस्थार्पत ककए गए थे। 
(डी) आदिवासी गााँव जो रबर जैसे वन उत्पािों का व्यापार करते थे। 
 

7. Arrange in sequence 

i) Imperial Forest Research Institute was set up. 

ii) Enactment of Indian Forest Act 

iii)Indian Forest act divided forests into three categories.  

iv) Indian Forest Service was set up. 

Options: 

a) iv, ii, iii, i  

b) iv,iii,ii,i 

c) ii, I,iii,iv 

d) i,iv,iii,ii 

7. क्रम म़ें व्यवश्स्थत कऱें 
i) इंपीररयल वन अनुसंधान संस्थान की स्थापना की गई। 

ii) भारतीय वन अधधतनयम का अधधतनयमन 
   iii) भारतीय वन अधधतनयम न ेवनों को तीन शे्रखणयों म़ें र्वभाश्जत ककया है। 

iv) भारतीय वन सेवा की स्थापना की गई। 
र्वकल्प: 

ए) iv, ii, iii, i 
बी) iv,iii,ii,i 

ग) ii, I,iii,iv 
घ) i,iv,iii,ii 



8. Identify the given picture 

8. दिए गए धचत्र को पहचाऩें 
 

  

a) The Imperial Forest School, Dehra Dun, India. 

b) A British bungalow 

c) National museum in India 

d) A French school , Mysore, India. 

ए) इंपीररयल फॉरेस्ट स्कूल, िेहरािनू, भारत। 
b) एक बिदटश बंगला 
c) भारत म़ें राष्ट्रीय संग्रहालय 
d) एक फ्ांसीसी स्कूल, मैसूर, भारत। 

 

 

9. In the question given below, there are two statements marked as Assertion (A) and Reason 

(R). Read the statements and choose the correct option :  

Assertion (A) :  6000 Kalanga families were equally divided between the two kingdoms. 

Reason (R) :  The Kalangas of Java were a community of skilled forest cutters and shifting 

cultivations.. 

Options: 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true, but R is not the correct explanation of A. 

(c) A is correct, but R is wrong. 



(d) A is wrong, but R is correct. 

9. नीच ेदिए गए प्रश्न म़ें, िो कथन असभकथन (ए) और कारण (आर) के रूप म़ें धचश्ननत हैं। कथन पढ़ें 

और सही र्वकल्प चुऩें: 
िावा (ए): 6000 कलंगा पररवार िोनों राज्यों के बीच समान रूप से र्वभाश्जत थे। 
कारण (आर): जावा के कलंगा कुशल वन काटने वालों और स्थानांतररत िेती करने वालों 
का एक समुिाय थे। 

र्वकल्प: 
(ए) ए और आर िोनों सत्य हैं और आर, ए का सही स्पष्टीकरण है। 
(बी) ए और आर िोनों सत्य हैं, लकेकन आर, ए का सही स्पष्टीकरण नहीं है। 
(सी) ए सही है, लकेकन आर गलत है। 

(डी) ए गलत है, लेककन आर सही है। 
10. In which year did the Bastar rebellion take place? 

a) 1912 b) 1910 

c) 1915  d) 1920 

  

10. बस्तर र्वद्रोह ककस वषि हुआ था? 
ए) 1912 बी) 1910 

सी) 1915 डी) 1920 

Answer key 

1. c) Multan and Sukkur 

2. a) 300 miles 

3. a)  Northern State railway 

4. d) 10 feet by 10 inches by 5 inches 

5. (c) Villagers were not allowed grazing cattle in forests except in a specific area. 

6. (a) Villages which were allowed to stay on in the reserved forests on some condition 

7. a) iv, ii, iii, i 

8. a) The Imperial Forest School, Dehra Dun, India. 

9. (a) Both A and R are true and R is the correct explanation of A. 

10.  b) 1910 

 


